

ON AN INEQUALITY OF NANSON

I.Ž. MILOVANOVIĆ, J. E. PEČARIĆ and GH. TOADER  
 (Niš, Beograd, Cluj-Napoca)

In this paper we give a generalization of the following inequality of Nanson [1] (see also [2]) for the case of  $p, q$ -convex sequences :

THEOREM 1. *If the real sequence  $a = (a_1, \dots, a_{2n+1})$  is convex, then*

$$(1) \quad \frac{a_1 + a_3 + \dots + a_{2n+1}}{n+1} \geq \frac{a_2 + a_4 + \dots + a_{2n}}{n}$$

*with equality if and only if  $a$  presents an arithmetic progression.*

*Definition. A real sequence  $a = (a_1, a_2, \dots)$  is  $p, q$ -convex ( $p, q > 0$ ) if  $L_{pq}(a_n) \geq 0$  for  $n \geq 1$ , where*

$$(2) \quad L_{pq}(a_n) = a_{n+2} - (p+q)a_{n+1} + pqa_n.$$

*Remark 1. For  $p = q = 1$  we get the usual notion of convexity. In [4] we have shown that a remarkable place in the theory of  $p, q$ -convex sequences is played by the sequence  $w = (w_1, w_2, \dots)$  given by*

$$(3) \quad w_n = \begin{cases} \frac{p^n - q^n}{p - q} & \text{if } p \neq q \\ np^{n-1} & \text{if } p = q. \end{cases}$$

For example, we have proved :

LEMMA 1. *The sequence  $a$  satisfies the relation*

$$(4) \quad L_{pq}(a_n) = 0, \quad n = 1, \dots$$

*if and only if*

$$(5) \quad a_n = uw_n + vw_{n+1}$$

*where  $u$  and  $v$  are arbitrary real numbers.*

THEOREM 2. *If the real sequence  $a = (a_1, a_2, \dots, a_{2n+1})$  is  $p, q$ -convex, then :*

$$(6) \quad \frac{(pq)^n a_1 + (pq)^{n-1} a_3 + \dots + a_{2n+1}}{w_{n+1}} \geq \frac{(pq)^{n-1} a_2 + (pq)^{n-2} a_4 + \dots + a_{2n}}{w_n}$$

*with equality if and only if  $a$  satisfies (4).*

*Proof.* Since

$$a_{2k+1} - (p+q)a_{2k} + pqa_{2k-1} \geq 0, \quad k = 1, \dots, n$$

and

$$a_{2k+2} - (p+q)a_{2k+1} + pqa_{2k} \geq 0, \quad k = 1, \dots, n-1,$$

we have the inequalities:

$$(7) \quad \sum_{k=1}^n \frac{w_k w_{n-k+1}}{(pq)^{k-1}} (a_{2k+1} - (p+q)a_{2k} + pqa_{2k-1}) \geq 0$$

and

$$(8) \quad \sum_{k=1}^{n-1} \frac{w_k w_{n-k}}{(pq)^{k-1}} (a_{2k+2} - (p+q)a_{2k+1} + pqa_{2k}) \geq 0.$$

Because:

$$(9) \quad w_{k+1} w_{n-k} - pq w_k w_{n-k-1} = w_n$$

adding (7) and (8) we obtain:

$$pq w_n \sum_{k=1}^{n+1} \frac{a_{2k-1}}{(pq)^{k-1}} - w_{n+1} \sum_{k=1}^n \frac{a_{2k}}{(pq)^{k-1}} \geq 0$$

which is (6).

*Remark 2.* For

$$(10) \quad s_n = w_1 + \dots + w_n$$

we have

$$(11) \quad L_{pq}(s_n) = 1.$$

So we obtain the following:

**LEMMA 2.** If the real sequence  $a = (a_1, a_2, \dots)$  satisfies:

$$(12) \quad m \leq L_{pq}(a_n) \leq M, \quad n = 1, 2, \dots$$

then, the sequences  $(b_n)$  and  $(c_n)$ ,  $n = 1, 2, \dots$ , given by

$$(13) \quad b_n = Ms_n - a_n, \quad c_n = a_n - ms_n,$$

are  $p, q$ -convex.

**THEOREM 3.** If the sequence  $a$  satisfies (12), then

$$(14) \quad mz_n \leq \frac{(pq)^n a_1 + \dots + a_{2n+1}}{w_{n+1}} - \frac{(pq)^{n-1} a_2 + \dots + a_{2n}}{w_n} \leq Mz_n$$

where

$$(15) \quad z_n = \frac{w_n + \sum_{k=1}^{n-1} (pq)^{n-k} w_k (w_{n-k+1} + w_{n-k})}{w_n w_{n+k}}$$

*Proof.* Because  $(b_n)$  and  $(c_n)$ ,  $n = 1, 2, \dots$ , given by (13), are  $p, q$ -convex, we may apply (6). Taking into account (11), we can make with  $(s_k)$ ,  $k = 1, 2, \dots$ , the same operations as in the proof of Theorem 2 and we get (14) and (15).

**COROLLARY.** Since for  $p = q = 1$ ,  $w_n = n$ , (6) becomes (1) and (14) an inequality proved in [3], where  $z_n = \frac{2n+1}{6}$ .

#### REFERENCES

- [1] Nanson E. T., *An inequality*. Messenger Math., **34**(1904) 89-90.
- [2] Mitrinović D. S., Vasić P. M., *Analytic Inequalities*, Berlin-Heidelberg-New York, 1970.
- [3] Andrica D., Rasa I., Toader Gh., *On some inequalities, involving convex sequences*. Anal. Numer. Theor. Approx., **13**(1984), 5-7.
- [4] Milovanović I. Ž., Pečarić J. E., Toader Gh., *On  $p, q$ -convex sequences*. Itinerant Seminar on Functional Equations, Approximation and Convexity, 1985, 127-130

Received 18.10.1985

Institutul Politehnic  
Str. Emil Isac, Nr. 15  
3400 Cluj-Napoca, România